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MATHEMATICS 5 SN

PARABOLA

Name___________________________________
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Identify the vertex, focus, axis of symmetry, and directrix of each.  Then sketch the graph.

1)  x + 5 = (y - 6)2
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2)  4(x + 4) = (y - 4)2
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3)  -(x + 6) = (y - 6)2
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4)  
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2
x = (y + 3)2
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5)  -(y - 2) = (x - 1)2
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6)  y + 3 = (x - 5)2
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7)  y + 4 = (x + 1)2
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8)  y - 3 = (x - 2)2
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9)  
5

2
(x + 3) = (y - 1)2
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10)  -x2 + 6x + y - 11 = 0
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11)  -x2 + 6x + y - 12 = 0
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12)  -y2 + x + 12y - 36 = 0
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13)  x2 - 12x + 4y + 20 = 0
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14)  2y2 + x + 12y + 21 = 0
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15)  x2 + 10x + y + 23 = 0
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16)  -2x2 + 8x + y - 2 = 0
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17)  2y2 + x - 16y + 33 = 0
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18)  -2y2 + x - 8y - 5 = 0
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Answers to PARABOLA
1)  

x

y
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8 Vertex: (-5, 6)
Focus: (- 19

4
, 6)

Axis of Sym.: y = 6

Directrix: x = -
21

4

2)  

x

y
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8 Vertex: (-4, 4)
Focus: (-3, 4)
Axis of Sym.: y = 4
Directrix: x = -5

3)  
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8 Vertex: (-6, 6)
Focus: (- 25

4
, 6)

Axis of Sym.: y = 6

Directrix: x = -
23

4

4)  
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8 Vertex: (0, -3)
Focus: (1

8
, -3)

Axis of Sym.: y = -3

Directrix: x = -
1

8

5)  
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8 Vertex: (1, 2)
Focus: (1, 

7

4)
Axis of Sym.: x = 1

Directrix: y = 
9

4

6)  

x

y
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8 Vertex: (5, -3)
Focus: (5, -

11

4 )
Axis of Sym.: x = 5

Directrix: y = -
13

4

7)  
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8 Vertex: (-1, -4)
Focus: (-1, -
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4 )
Axis of Sym.: x = -1

Directrix: y = -
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4

8)  
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y
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8 Vertex: (2, 3)
Focus: (2, 
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4 )
Axis of Sym.: x = 2

Directrix: y = 
11

4

9)  

x
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8 Vertex: (-3, 1)
Focus: (- 19

8
, 1)

Axis of Sym.: y = 1

Directrix: x = -
29

8

10)  

x

y
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8 Vertex: (3, 2)
Focus: (3, 

9

4)
Axis of Sym.: x = 3

Directrix: y = 
7

4



©C u2E0H1F6B ^KGuNtgak `SJoWfFtnwMaorhet cL_L^CT.C Z lAVlClY erJidgfhutFsc `rpebskeqrUvSewdQ.o Z QMMaxdAeH cwEiNtjh[ XICnvfZifnBi^tVeA OAHlogyepbmroaI o2F.

Worksheet by Kuta Software LLC

-5-

11)  

x

y

-8 -6 -4 -2 2 4 6 8
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6

8 Vertex: (3, 3)
Focus: (3, 

13

4 )
Axis of Sym.: x = 3

Directrix: y = 
11

4

12)  

x

y

-8 -6 -4 -2 2 4 6 8
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6

8 Vertex: (0, 6)
Focus: (1

4
, 6)

Axis of Sym.: y = 6

Directrix: x = -
1

4

13)  

x

y
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8 Vertex: (6, 4)
Focus: (6, 3)
Axis of Sym.: x = 6
Directrix: y = 5

14)  

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8 Vertex: (-3, -3)
Focus: (- 25

8
, -3)

Axis of Sym.: y = -3

Directrix: x = -
23

8

15)  

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8 Vertex: (-5, 2)
Focus: (-5, 

7

4)
Axis of Sym.: x = -5

Directrix: y = 
9

4

16)  

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6
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2

4

6

8 Vertex: (2, -6)
Focus: (2, -

47

8 )
Axis of Sym.: x = 2

Directrix: y = -
49

8

17)  

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6
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4

6

8 Vertex: (-1, 4)
Focus: (- 9

8
, 4)

Axis of Sym.: y = 4

Directrix: x = -
7

8

18)  

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8 Vertex: (-3, -2)
Focus: (- 23

8
, -2)

Axis of Sym.: y = -2

Directrix: x = -
25

8


